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LISTENING

Notes on the Marking Scheme

Non-verbal Answers

Follow the mark scheme as set out.

Verbal Answers (English or Target Language)

1. The basic principle of assessment is that candidates should gain credit for what

they know, understand and can do.  The following guidance should be borne in

mind when marking.

(a) Credit should be given for all answers which convey the key idea required

intelligibly and without ambiguity.  This applies whether the answer is in

English or in the target language.  A separate assessment of spelling,

punctuation and grammar is not required on these papers because of the

nature of the answers.  However, these aspects are an integral part of

assessing communication and marks cannot be awarded where errors in

spelling, punctuation or grammar lead to a failure to communicate the

required information without ambiguity.

(b) Where a candidate has given alternatives or additional information in

answer, the following criteria should be applied:

- if the alternative/addition does not contradict the key idea or make

it ambiguous, accept;

- if the alternative/addition contradicts the key idea or makes it

ambiguous, reject.

(c) Where numbered lines are given within a question/section of a question,

credit should be given for correct answers, no matter which line they

appear on.

(d) Where a question has more than one section, a candidate may include as

part of the answer to one section the information required to answer

another section.  For instance, the information required to answer section

(b) might be given as part of the answer to section (a).  In such cases,

credit should be given for having answered section (b), provided that no

answer has been given for that section in the correct place.

(e) Where a question or part of a question carries more than one mark,

candidates are given credit for all the correct answers they give, even if

they have given incorrect answers as well, except where any of the latter

contradicts a correct answer that they have given.

2. ...../.... means that these are acceptable alternative answers.  (.....) means that this

information is not needed for full marks.  Listening Test
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Listening Test

Foundation Tier

Question Key Idea Accept Marks Reject

Section A

1

  Family

  Monkeys

1

1

Mum and Dad

2 17 years old

Postman

17 years/17 1

1

3 Next Thursday

9.30 am

        12.15 pm

Thursday

9.30 / 12.15

1

1

1

Section B

4
 (a)  1
(A)  4

(a)   4
(A)  1

1

1

5 nIlI kmIz, lwl tweI, kwlI pYNt,
kwlI ju`qI

Any Three

kwly SU

3 Srt

6 (a) 2

    (A)    6

(a)  6 (A)  2 1

1

7. (a) AMgryzI, ihswb,
swieMs, ieiqhws,
BUgol, pMjwbI

(A)    jrmn

Any Three 1X3

1

8 (a)  4   (A)  3 1 , 1

9. 3 1

10 (a) ie`k hPqw (lgwqwr)
(A)   24 GMty kuJ nhIN Kwxw,
aubilAw pwxI, PlW dw rs
pIxw, ièk hPqy bwAd Awauxw

hPqw

dvweI KwxI

Any two

1

2
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Question Key Idea Accept Marks Reject

11 (a) ishq TIk nhIN hY, bImwr hY
(A) do hPqy Awrwm
(e) vDweI, Pon vI krygI

TIk nhI
Awrwm
vDweI

1

1

1

12. (a) hvweI jhwz dw sPr
(A) Gbrwht huMdI hY, fr lgdw
(e) ryl g`fI
(s) idlcsp suMdr nzwry/ivaU

hvweI jhwz
cMgw nhIN lgdw
tryn

1

1

1

1

13. imlxswr/ imhnqI/ cMgw stwP,
ikrwieAw isrP 300 rupY sI, hotl
swP suQrw, hvwdwr, cMgw pRbMD

Any four
ie`k cMgw, bVw mzw
AwieAw, ssqw sI,
mzydwr

1 X 4

sohxw hotl

Total 35
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Listening Test

Higher Tier

Question Key Idea Accept Marks Reject

Section A

1

(a) ièk hPqw (lgwqwr)

(A) (24 GMty) kuJ nhIN Kwxw, aubilAw
pwxI jW PlW dw rs pIxw, ièk hPqy
bwAd Awauxw, dvweI KwxI

hPqw

Any two from
(A)

1

1x2

2
(a) ishq TIk nhIN hY, bImwr hY

(A) do hPqy Awrwm

(e) vDweI, Pon vI krygI

TIk nhIN
Awrwm
vDweI

1

1

1

3
(a) hvweI jhwz dw sPr

(A) Gbrwht huMdI hY, fr lgdw

(e) ryl g`fI

(s) idlcsp suMdr nzwry/ivaU

hvweI jhwz

cMgw nhIN lgdw

tryn

1

1

1

1

jhwz
cVHdw
auqrdw hY

4.
imlxswr/ imhnqI/ cMgw stwP,
ikrwieAw isrP 300 rupY sI, hotl swP
suQrw hvwdwr, cMgw pRbMD, bVw mzw
AwieAw, ssqw, mzydwr

1x4

sohxw
hotl

5
(a) pMjwbI mhOl, fIlks kocW, ssqy
ikrwey [

(A) vulvrhYNptn, lIfz, brYfPorf,
swaUQwl

Any three
vDIAw kocW

Any two

1x3

1

ie`k vwrI
jW
do vwrI
jWdIAW hn

6

(a) iGau izAwdw, qlIAW cIzW

 (A) motwpw, crbI vwlIAW cIzW qoN
prhyz kro, hrIAW sbzIAW, Pl,
aublIAW cIzW KwxIAW

btr izAwdw,
qyl vwlIAW

Any three

1

1x3
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Question Key Idea Accept Marks Reject

7
skUl dw kMm, sweIkl clwauxw,

Pu`tbwl, kirkt Kyfxw,

tYlIivXn dyKxw

Any two 1x2

8
somvwr:    Du`p qy srdI

mMglvwr:   hlkI vrKw Aqy qyz mINh

bu`Dvwr:    mINh nwl gVHy pYxgy

vIrvwr:    brP Aqy TMfI hvw c`lygI [

At least one

from each day

1

1

1

1

9
(a) PslW dw nukswn

(A)    lokW dy Gr Krwb, kwrobwr

        qbwh, hVH [

(e)    40 l̀K rupY id`qy, mdd kIqI,

        pYsy id`qy [

PslW Krwb

Any two

1

2

1

sB kuJ
Krwb

Section B

10

(a)  India’s capital, Historical +

building, Many attractions and

places of worship i.e. Gurdwaras,

Temples, Mosques.

(b)  Pollution from factories

and traffic, Smoke and fumes

(c)  Transport running on gas,

Shifting factories out skirts of

Delhi

(d)  Any views i.e. good or bad

Kutab Minar,

Red fort,

Parliament

house etc.

Traffic,

factories

2

2

2

2

Total: 40




